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Read the following passage carcfully
or quﬂﬂﬁﬂﬂﬂ no. 16 - 18

n a villago, o shopkooper used to soll his
fruits at high prices, which brought him a lot
of profit. But, ho wasn't happy with it becauso

ho wanted to carn moro. So, whenover a
customer came to buy fruits from him, he
cleverly reduced the weight a little. Now, ho
wns oarning moro monoy. Ono dny his {riond
came to buy some fruits from him and ho'did
the samo to hias friond. When his friend got
suspicious, the shopkecpor told him that it
wns his illusion.

Tho shopkeeper manipulated his customors
because ho was

(A) greedy

/(m’ ambitious

(C) nngry
(D) poor

How did the shopkeepor enrn money ?
(A) By selling wood
(B) By solling vegotnbles
}( By solling fruits
(D) By sclling grocery

Tho shopketeper's friend grow -
(A) merciful
(B) sympathetic

(C) treancherous

/Fﬂ' guspicious

l'

|

ons no. 16 to 30) For cach question, four possible answer choices have he
cot the correct anawer and indicate {t at the appropriate place in the

21[

'

lﬂl

20.

n glven, out
OMR

Dircctions : Answer questions no. 19 - 22 by
choosing the most appropriate optlona to complete

the paragraph by filling in the blanhas,

Gulliver found that the strongost cnblos woro
no bottor than thin throads and tho motnl

bars woro like knitting ncedles. Tlo mado

somo strong cables by _(19) multiplo cnbles
togethor. o gomo  hoolks
by bending two-threo motnl bars  togothor,
I'In (20) tied tho hooks at the onds of tho

#

cnbles and wont to tho shore with them, Beforo

also  mndo

gotting into tho sca, Gulliver did not forgot

to put (21)
oyes. Gulliver then wndod through tho son

his goggles to protect his

wntor (22) waes reaching only up Lo his chost.

#

(A) twist
(B) ,twistod

?( twisting
D) twists

thon
(B) when

(C) 8o
(D) but

(A) out
- (B) In
'/C)/uf

(D) on

22. (A) who

which
4
(C) how
(D) while
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!’fz“ d choose the 1. month becal all ExpEDSEE
4 the sentence given below an : this @ after M eting
g4. Rea . 1y changés it into Passive money le
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Whom did you invite ? }!I little
lesser
y/w']mm was invited by you 7 :E; o
80
Id be invited by you ? ica 18 the
o Whocowene e | 28. The Amazon river 10 South AmMET!
] e

(C) Who was invited by you ?
(D) Whom could be invited by you ?

The word which is opposite in meaning t0

‘mercilessly’ 1s

24.

(A) torturous

(B) cruelly

}46')' kindly

(D) heartlessly

25. Choose the word similar in meaning to the

underlined word.

It will be hard for us to recoup the loss. |

(A) cut
(B) retain

(C) spread

|

/.B)/recnv er

Directions : (Questions no. 26 — 28) Answer thesg‘

questions by choosing the most appropriate options
to fill in the blanks.

26.

hundred-metre race, but they were all
declared winners.

(A) None of the
(B)

either of the

,CB)/EE "her of the
S

Grne
°Tthe

29.

river in the world.

(A) longer
(B) longest
(C)

( most longest

a long

he alternative that best expresses th

lect t s .
. ce in indirect speech :

following senten

said, “After hearing the sad story of th;

- etly got up and walked bac}

laundry man, I qui

(A) Alan said to me that after hearing th,

laundry man’s sad story ] quietly got y,
and walked back home. _

) Alan said that after hearing the lau“ndr_,
man’s sad story, he quietly got up ap
walked back home. '

Alan was saying to me that after hear,
the laundry man’s sad story, he qui)
got up and walked back home.

(C)

(D) Alan said that after hearing the laun;

man's sad story, 1 quietly got wp a
walked back home.

seven Paralympians . ran th&ﬁm_l Give one word substitute for the followis

expression :

‘One who can be easily led to believe |
something’. -

(A) Indelible
Incredible
(C) Gullible
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Answer Sheet.

q). H A F WTRS Hl FAIE

32.

33.

34. AFS & UH &M H T 5 fi. AR A

35.

¥ faeol WaAT R, & &% | =1 &M 2
(A) 1:42 (B) 1:2

€y 221 (D) J2:1
g A9 FIEH 467 F: 409% @A H G W,

20% WA & foR T it 309 @R T W
gd &t & | 98 i 9y 3 3 & 10% A
a9d HW & | UEARd W AN & fEuw @

F21 B T2 2
(A) 144° (B) 36°
(C) 72° (D) 108°

wieg “MOVEMENT” 8 U&% & Ig=adl
ST 2 | 38 e & M g i wifawa & R 2

(A) (B) 2

(C) (D)

=13 B =

4
1
5

36T 2 | 48 1-35 94 H}. FHhe 4 T & | 3H
&M ) SIS = 8 2
(A) 15 8
(C) 75 gHl

905 g
80 9l

(B)
(D)

UF T F ATAHER WA & ATH F QA6
38,400 a1 #. 2 | afe saehl wward o <igTs
mws:g%,ﬁw%%ﬂmwwﬁm

E\T’Tl '
(A) 500 H1. 800 1.

1200 1.

(B)
(D)

31.

32.

(C) 1000 H.

33.

34.

M 76 cm

BF924 - F

(Questions no. 31 to 65) For each question, four possible answer choices have been given, out
ot answer and indicate it at the appropriate place in the OMR

zat i, S vr

What is the ratio of the area of a square to the
area of another square made on the diagonal

of the first square ?
)l‘f} 1:2

(A) 1:42
(C) 2:1 (D) VJ2:1

Mohan spends 40% of his monthly income on
food items., 20% on house rent and 30% on
miscellancous items. He saves 10% of his
income every month. What is the central angle
for house rent on a pie-chart ?

#1440 B)  36°
(1) 27 (D) 108°
One of the letters from the word

“MOVEMENT” is chosen at random. What is
the probability that this letter is M ?

(A) ~ B) X
2 4
(C) -2— L}({l l
7 o)

A beam of wood is 5 m long and 36 cm thick. 11
is made of 1-:35 cu m of wood. What is the

width of the beam ?
(A) 16 cm k?( 25 cm
(D) 80 cm

The area of a school's rectangular playgroun
is 38,400 sq m. If the ratio of its length
breadth is 3 : 2, then the perimeter of i

playground is :
(B( 800 m

(A) H00 m
(C) 1000 m (D) 1200 m
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(C) 12

(B) 7

(D) 16

ﬂﬁx=7—4\/§ %.Fﬁ[x+i)aﬂm'g: |

,LB(BJ:?

(D)

(A) 33

(C) 14 + 8V3 14

af2 qie AR Quitehl &1 anTee S 2, @ 399 Q
gaq @9l QIis, S & |y fFg a@ ¥ gafiq

27
S-10 S+4
A = ?ﬁ’ :
o S22 oy S+10
4 5

¥ I Y YA W s hit g ¥ 3 2
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41.
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In 24 coins, there are T 1 coins, ¥ 2 coins a
Z 5 coins. The value of these 24 coins1s T |

If the number of T 1 coins and the number

¥ 5 coins is equal, then how many ¥ 5 co

are there ?
]

(A) S (B 7

%/12

42. If x=7 - 4J§ . then the value of (x +

/{; 83
@ 14

If the sum of five consecutive integers |

(D) 16

Al
=1
(A) 33

(C) 14 + 8J3

43.
then how is the greatest of these int

related to S ?

(A) S-10 (9) S+4
5 4

| (C) S+5 (D) S+10
4 5

Prem is 3 times older than his son .
After 15 years, Prem will be twice the
Ashok. What is the sum of their present

/B( 60 years

(D) 72 years

(A) 48 years

(C) 64 years

22
(A) 48 Y /{) 60 94
(C) 6494 (D) 7299
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7 . v
D -
v 4,
£
\/
Vi L A .
A ] (A) 20 (B) 2%
wlhod) - 31 /}Z’ 407 457
fC) 407 4

(A) 2772793 94T
(4 2727 73 B4 (D)

48. mmﬂmmmzﬁmﬁf: 32
A7 2 A 125 @ B £ | 78 A1 F

gfram 2 .
(A) 13534 (B) 5484
(C) 8141 (I 48 T41

formed. What is the volume of that Cﬂm’;
(A) 2772 cucm (B) 2722 @

y/ 272Tcucm (D) 2277 cuera

The adjacent sides of a rectangle are ¢
ratio 5 : 3 and its area is 125 gg e’

- | 48.

penme’oerofther eis:
(A) 135 cm (B) 54cm
(C) 81cm B 48cm
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&1 hdl 2 ?
A 196 fo 1. (B) 192 fF ot
c) 216 f&.m. (D) 212 f& .

so. afz T F I 28 =fw 65 fAl  qu a we |

3, @t 3w H fea ==fw 35 BA A qu
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(A) 48 (B) 46

49.

00.
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A loaded truck covers 18 km in 35 minutes.

At the same speed, how far can it travel in

T hours ?

() 196 km (B) 192 km

(C) 216 km (D) 212 km

If 28 people can do a work in 65 days, how

many people can do the same work 1
35 days ?

(A) 48 (B) 46
(C) 52 (D) 56 (9/52 (D) 56
| ) - 1
(r+
R L Rg— L I e
51 L 2 § 5l 9 % V33 is equal to :
\ 3 = " i32-r
A 1 (B) ! (A) 1 (B) :
( 3 3
9
(©) 3 D) 9 (OF 3 ot
2%+ 2" e 2 2" + 27 | to :
52. SxT _ g8 52. T gt is equal to :
1 3 1 3
= (B) = (A) — (B)
A 3 - g 5
2
2 . =
(C) 1 D) ) 1 D)3
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(A) 4 (B) 3
(B) 3 y{ 2
(C) 2 (D) 1
(D) 1 t o
g4, The prodve
54. 21 4ATH® g3 F UUERSS 2939 5 and "¢ " ?
‘ 3 | @9 greater number:
wﬁﬁ@ﬁﬂf{aﬂmﬂ3 | jo 8
g #& R 7 i
”s (A) “"-}“'
(A) =
e
B) SO B
7
37 37
& 2 7
- (C) -
(D) %ﬁ }5)/ 68
7
J—5- + 1
565. qﬁ g = 1/5-!—1 2T b = _JE_:__:!'. a’ ajllﬁs If a = J—
J5 -1 J5+1 ot
32+ﬂb+b2 % 32+ab+b2 1
= LGL : - S
a —ab+b2 32—3b+b2
(A) 075 B .25 '
(B) 1 (A) 0-75
3
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Three numbers are in the ratio 2 : 3 : 4 and

56. 56.
amEd 2673 B | 9 19 gemisd @ aed
?F’I w0 sum of ir cubes is 2673. The sum of these
§: three numbers 1s :
(N, 26 (B) 27 ‘/(;/25 ){ 27
(C) 28 (D) 29 ( 28 (D) 29
57. afe (32’1"“"’*"I = 87X 471 %. dl x &1 W= 2 - 57. If (32)2**1 =8 %44 then the valueof x1s:
(A) 1 ?(} -1 (A) 1 /(lyf -1
(C) 2 (D) =9 * x 2 (D) -2
4 4
i m -4 afel-s | |63z | .
39 . 58 { fs° [ 5 ] is equal to :
58. 3¢9 | [Y¥5° | wem 2 1 it
(A) 5° (B) 5°
(A) 5° (B) 5%
. () 58 (D) 52
A 5° (D) 512
. 3 . 53 , 23 , 43 3 _ n+1)
‘ p 2 |59, If1°+2° +3° +4 +....+n_{n( ]
59. 'ﬂﬁl3+23+33+43+....+n3= n[n+1]] 2
2 1
~J ' : here ‘n’ is a natural number, th
‘n’  TH  THhd A a e '
el ) %T 3 _93 33_43 53_63 73_8‘.3 93_-
13-23"'33_43""53“634'33'—83"!'93-103 1 + + + + 1
T 2 1s equal to :
(A) 3025 (B)' -575 (A) 3025 (B) =575
(C) - 1800 )?n’ 2425 (C) -1800 ,wf} 2425
— 3 fion
60 8 . V100 395 | a2 - 60. [-——‘@ +‘@x3125}isequam;
© V16 V49 | J16  J49
1
(X)) T (B) - /7 (B) ..7_
4 4
7 4 7 4
C) — (D) = . 4
(C) 100 T (C) 100 (D) -

=1 @14 % fau g /| SPACE FOR ROUGH WORK
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Gix + 6) - 152 -2 = 1= (A ‘
- =1 —
3x IBI W & ] {/C‘)/}‘r ct.ﬂd ['rﬂll"l cl nllmbEr arl
(A) x =1 _ -2 1 . subtré 1
(D) X 2. If 5 : :slied by 8, th
(C) x=2 o 2 .. multiplied DY ©, the regy),
1 gl ATC N d (ferenc® 9t ber ? a
gedl 8 2 | L g this pUMPET:
62. ufz fodl T 2 mzf""m ; What (B) 3
s @ 8 @ om fE e (A) 2 (D) 8
qegr ¥R ? ) 4
(B) 3 2X then the val
(A) 2 65X 4= —,then Uﬂﬂffth-‘-,,
8 = D Iy
(C) 4 (D) i 3
&1 9 g 19 ﬁ - _1.§
o, o SH_go B M7 » 3 s
3 ’ 13 (D) 13
13 E , >
(C) 0 (D) 1g e4. If [x + ;) = 3, then the value of
64. uR x+i)ﬁ=3?,?ﬁ x2W+x2m+x90+x34+x13+312+¥5 1
X S _
x206 , 200 x90+x34+x13+312+36+1 1S !
&1 q19 2 " | /u() 0 (B) 1
(A) 0 (B) 1 (C) 84 (D) 206
C) 84 (D) 206 1
(C) 8 65. If x + —= 5, then the value of \\ji\
X .
1 2x 2 3x* - 3.
e x+ ~=5 8, a — 1 q11 .
X 3x% - 5x + 3 1S :
(A) 5 B) 2 (A) 5 B) 1
5 5
(C) 4 (D) 4—1- (C) 4 of 1
i 4
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7 8. 66 7 100 T%) J09% 777 % 70 &y grgrfam 377 fas=q foo 70 2, (78 8 a7 vas 977 2 |

g7 97 Zo7iA1 2 |

y : (Questions no. 66 to 100
- ) For e 4 '
1ly one (s correct. Select the cnr:ajh question, four possible answer choices have been given, out
ect answer and indicate it at the appropriate place in the OMR

e,

#0152 muaa 7dw & onads g
Al 72 T W wEn g w2 fe
W@WWﬁﬁfwmmﬁamm
2132 T fFm o100 F Fm oA zim A
mH. Z9 & 3 fam w oA w2,
A1 ETT 2

100°

110°

130°

140°

66.

A ray of light is incident at a point on the
reflecting surface of a plane mirror so that the
angle between the incident ray and the
reflected ray is 120°. If this ray is turned
through an angle of 10° towards the reflecting
surface keeping the point of incidence same,
the angle between the incident ray and the

new reflected ray will be :
(A) 100°

(D) 140°
The part of human eye which gives it a

distinct colour 1s :

A cornea
(B) 1ns
(C) lens
(D) pupil
If the angle between the incident ray and the
reflected ray is 130°, the angle between the
incident ray and the reflecting surface of the

MIrTorJs :
e
(B) 35°
(C) 55°

67.

68.

—————

(D) 65°

e —
== — —————

Fed -'a?ra ¥ foro sz /| SPACE FOR ROUGH WORK



gF924 — F
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(A) F"'?'TEI@I Fay §3& P ara & 0. waﬂanwﬂgm
(B) I mli“i'a (37 Ay voleane efuption
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T gHT SAIR ¥ | ugh it e cuprs oD
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e A R 3 g, £ | - of blad Pass;
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1 g 3k @ A rough the fan
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ctrodes im bubb]
a little mersed ; €S near
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72.

73.

74.

75.

L7
H*Tﬁagmm‘@ﬁ‘érm’a‘q:ﬁu" # w09 % WM
gora: B9 €

(A) @d ITHT 7 q A
(B) gqrg-&™ @ arta fareeh

(C) qifra 3 @ =E 39T A
(D) aif¥a faesht @ =3 39w &

ereft oftor aft B yEw wafy d ofafda w3 %

12.

BF924 - F

In musical instruments ‘Ektara’ and "Manjira’
the vibrating parts are respectively :

(A) The instrument itself and air-column

Mir-cnlumn and stretched membrane

(C) Stretched string and the instrument itself

lD_) Stretched membrane and the instrument

itself

a loud sound we

fac &9 ﬁ AT aTﬁ eafa Hi/F 73.  To change a feeble sound to
(A) aqﬁ?’fm T ‘ will have to increase its :
@) (A) Time period
(C) 341?51%" q (B) Velocity
(D) HTAH q {/F}/Frequency
(D) Amplitude

(A) F1 A HH & ST 2
(B) AT dlem () & It 2,
(C) =1 a1 A 8 I 8

74.

The factors on which the loudness and pitch of
a sound respectively depend are :

(A) Amplitude and speed of sound
(B) Amplitude and frequency of sound

(C) Frequency and amplitude of sound

(p')/ Speed of sound and frequency

Amplitude and frequency are two important

75.
e amplitude

properties of any sound. When th
of vibrations increases, the sound produced

becomes :

(A) low pitched

( more shrill

(C) high pitched

(D) aA 8 ATl 8

(D) louder

=3 FTd & foro wmg / SPACE FOR ROUGH WORK
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. fac|76-
. CI
aro24 - " ) g ® g afed
76. T (ﬁ A T g e &
3" - o= 5—3‘@ g
ereAfat@d q 4
|
(A W
(B) HE
el 4
) F e ( )
D) faZ7 77
p o 1 3l FHiaA i1 2@ T 2
77. ﬂaﬂg' w7 I
) ke
qg:)ﬁa)
g MEFE () Waﬂ
(i1) LR IES (b) e
Gii) et © F |
(iv) ATl (d) <ftaTy
bforfaa @ @ 38 A £ wgaA I
ot ) et A A 8 g
forerr foraT T R
(A)  (1)-(d), (ii)-(c), (iii)-(@), (iv)-(b)
(B) (i)-(b), (ii)(a), (iii)-(c), (iv)-(d)
(€) (i), (ii)-(d), (iii)-(b), (iv)H(a)
(D) (i)-(a), (i))-(b), (iii)-(d), (iv)-(c)

iven below are two columns - Colump

Column I1:
Column I Column []
(Disease) (Causative
Microorganisp,
(i) Rustof wheats (2) Protozoa
Gi) Typhoi b) Virus
(jii) Polio Fungi
(iv) Malana ) Bactena

Identify the option which correctly maz
the disease with its causative microorgans

(A)  (1)-(d), (11)-(c), (1m)-(a), (1v)-(b)

(B) (1)-(b), (11)-(a), (1m)-(c), (iv)-(d)

4, (D40), (D), (iii-(b), (iv)a

(D) (1)-(a), (11)-(b), (i11)-(d), (iv)-(c)
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| Column [l and H@ll.{,lh

( 20 ) h colum”
nlc in
ﬁ‘"ﬂq H2. M { |1H|“h” R vl 1l
3 Hlﬂ 1o ﬁ".,-pr / Column
et i (‘uﬂ””"
. . _
- 1 Fermentation
4 Nl llu
ape = ; Al e af:’-?ﬂﬂ ﬁ antﬂh“m
s < . duct:
3 V-2 ' ’ <illium roduction of
: );:;aﬂ e —B) Pen antibodies
& g1 FT
A} & qﬁ"'&n : :
N Fixation of
@ﬂrg{ﬂ Bluec green
>y ( .
5 ISl e alpgae nitrogen
2 e
'Lﬂ -'l'aé F? am (D) YEBSt FDUd presen-atinn
p I

m&f"ﬁ;
G T gt
& oanddd )
37 (T
) ;ﬁfﬁiﬁa
; * |
g foa I o
)
sy o RIS
C"I o .

83. The two discoveries made by Louis Pastey; |

commercial use

the of MICroorganig,

respectively are :

f/pasteurisation and vaccines

(B) fermentation and pasteurisation
(C) pasteurisation and antibiotics

(D) fermentation and vaccines

F=d #14 & fAu 7z /| SPACE FOR ROUGH WORK
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84. 2l ‘Fﬂ?h : 3\ WR H ﬁﬁm = ’ﬂ:q H|84. Select a group of two Crops which are grown
tﬁﬁ‘a’a" T‘tﬂﬁ %:' FC.'TQ Ush % L1 [+ {?Tﬂ E?( alternately in a field to TEplﬁniSh the soil with

qd R ITAL AT 2 nutrients.
() UM - ﬁi (A) Paddy and Wheat
(B) wferdl 9 ﬁi (B) Legumes and Wheat
(C) U T HEHI r (C) Paddy and Maize
(D) Wahl 9 Y1 f( Maize and Cotton
f
85. fedl w8 $ 3311@ FE ¥ IFA GEAEN & 85. Weeding is done before sowing a crop by an
$ Q?ﬁ ‘IEﬁT &I aa—rgﬁ g : agﬁcullurul practice known as :
(A) ofsT (B) ®ZHAT )(4(1 Threshing (& Vinnowing
(C) aﬂﬁ' D) gHaeEm (C) Tilling ( Levelling

86. One of the agricultural practices 1S
preparation of soil resulting in loosening of

soil initially. Which one of the following

86. #Wﬁrﬁﬁ@mﬁ@mm%m
soraey ooy § fudl el R 10
Effigd S § ¥ $HE & W g &

statements is nof an advantage of this

™ TE7 82 .
practice ?
(A) 31'3 8 ™ ? (A) Allows the roots to breathe easily
B aryor we gt S an A @ (B) Brings the nutrient-rich soil to the top
) fadt = wnad TR § gEES Al R (C) Helps in levelling the soil
(D) é:gaﬁ A 'Q\Fﬁﬁa’l EY qﬁ; FA H GgOH (P) Helps in the growth of earthworms and
At 2 microbes

<3 wrd % fore 7 / SPACE FOR ROUGH WORK



( 22 ) w{:tiﬂn
- @ 87 For the ” of Indi® launched a Pro,
7@ el :,aﬂg W”Emmenapmjed Tiger- TRIS Project |
y # ™ Al nown 88
’fgi-"‘ o & ﬁzﬁ;ﬁ vgrd ﬁﬁfﬁ'@ﬁ H in
o1 A 71 @l W Iﬂund’ed
g7 : aE tional Park
TSR iranga N2
am) kA’ a) B2Z
il 1L 50T gori Wildlife Sanctuary
FTAICN " }/ k
(Al o 73 T (C) Satpurd National Par
(B) e(71El ' B h Re
hi Biosphere Reserve
(C) gag? (;@‘fﬂ o CE ] (D) Pachmar
T
(D)
a—(a; 5 raa.—(;q ,88 MatCh Colllmn [ with Column II and 591&(‘1:.
g g ¥ mismatched option :
g5, ] e @8 7 e: |
2 gﬁﬂ* ﬁl‘:ﬂ - N Column [ Column []
T | \ like collecting
33 F1dHAgl E "3 s firewood and
et forsry &3 § T AH | medicinal plants
(B) ST 719 9 allowed
| - fr ayraral & afd &+ (B) Fauna gy Plants found in 2
(C) I3 +107 3AE g1 &l 9l particular area
e g : SRR g & /(} Endangered Numbers decreas:
(D . animals due to loss of

| (D) Endemic

. i, —
species

el

natural habitat

Found exclusivels:

an area

+=3 %1 ¥ fere g / SPACE FOR ROUGH WORK



89.

90.

(23)
89.

wzﬁ?a&mmwuﬁﬁmq&a@mg:
(A) qreafad, W it g F FHA @ BN

(B) yryrl, 321 AN T F WA AR F
(C) S, @ 3R == (smafuq)
(D) M,?ﬁmmaﬂéﬁmaw

| s @ whe @ fed smafid =5 %
AT H 9Z W wETRE R S

2. Hﬁﬂﬁmﬁﬁﬁgﬁﬁgﬁayﬁﬁm

90.

|

/x’.

aedl ¥ €9 d % |y AR AT
3K gzl & fr= oft ' @ |

3. Waﬁ@:ﬁﬁma@ﬁmaﬁ%
o e ¥ Fh fRR & e Fomad
W@W%Wma@#ﬁaﬁ
frmt g afad 8 91d 2 |

4. G{ammaﬁxmﬁaqﬁmﬁﬁ%%,
ﬁaﬁﬁmﬁaﬁmﬁzﬁéi

gﬁamﬁm%;

(A) Had 13T 2

(B) Fad 3 I 4

(C) 1,234

D) 1,33M4

Real, erect and smaller than the size ¢

the object
(B) Virtual, ‘nverted and of the same size

the object

(C) Virtual, erect and magnified

( Virtual, erect and smaller tha
the object

n the size

Study the following statements

Earthing is a process by which elec
charge on charged objects is transfe

to the earth.
ing electric discharge o«

harged clouds and

between two C
uds and

between the charged clo

earth.
{.  Durng development of thun
due to air currents, negative ct

| collect near the upper edge of the
the

ders

and positive charges near
edges.
4. When positive and negative C

meet. streaks of bright light and
are produced.

The correct statements are .
(A) 1and 2only

(B) 3 and 4 only

(C) 1,2and 4

WSandd

A e
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4 ~ &
‘ 29: gelect the corree f‘t“t”"wm’ from Lk
pFFJJ - F e gﬁﬂ , at ;:[Iuwillﬂ' :
S ﬁﬂﬁ_\;ﬁfﬂ s ::1;‘; jf“ﬂ 4N zd &l dfﬁ A) I*‘rictiﬂﬂ" fnrft’: dEpC‘ﬂdS on the sha
e ﬁrﬂfjﬂ 2! et a3 a8 ac the oh)€¢ and the nature of the ﬂl,'cit:lp'Elr "
” wﬂﬂﬂagaﬂ:; a’[ﬂ F ;:nﬁﬂ ﬂ [H} FI'iC[iﬂﬂﬂ fﬂrcc on an ﬂbjett d v
LT % n‘ﬂ #{ i de nd on its EPEEd 1 Qes
# ﬁaw:ﬂm X ot speed with TESPeCt N
L gt T nft # B @ T LR i in which ¥ moves ‘0 thy
II;J ifF 4 7 (,-_aﬁ 3:11 gfﬂ:ﬂ:: () Frictinnﬂl force always a
Pz g &9 a ﬁ’m‘-ﬂ a‘@aﬁ T diret‘tiﬂn ﬁfmut,iun cts 1n the
1 i 2 ‘y Becaus® air is very light and thi
T A A ofee L exert any frictional fo thin, it d
(708) R falling objects rce on the fr o
N eely
(A) 10 Hz 8 200 z @@ g2. The Ludible range of f
B) 20 24920 OHz?ﬁ‘ ear 15 requencies fo
| r
(c) 1000 Hz 3 15,000 H2 T ) 10 Hz to 200 H humg;
z
(D) 20,000 Hz & 30,000 Hz P 20
‘ b 1 G::: 20,000 Hz
93. il . : z L
Eﬁ?;’gzﬁaﬁgﬁwmﬁﬁm (D) 20,000 H I )
!tﬁ#qgag$31 2! £ a7 fr « 2 to 30,000 H
a-a'z et maﬁs:r m a")‘ EIEJEH % &9 ﬁ 93. Porters who ca YA
q7 @R l - rry
g | T FT& fire 38 M r@‘fq c:f Plece of Cﬂttnzeavy loads alw
(A) TFF Wﬁ? 2 g ying the load o cloth with tha}-s have ,
gl ad 2| oth in the n their h em. Be
fﬂ]‘n Ead fﬂ["t
[B) Nﬁﬁﬂaﬂ' ; on their h rof ar S[hEVf
swifaa =i 8 91 3 3 A eads. By doi ound disc and old th
) 3@ R a4 ' ) decr ing this th place i
o g @™ AT ease the th ey l'
g | qd @ G (B) save their | rust of the load
T
(D) 393 (/w/ 1eads fi ’
ﬁ‘r{ ﬁ a}g # m m decrease th rom pnsgible =~
g | &9 B g thei e force injury
et eir heads exerted by th §
(D} increase . € h}Hd i)
mm#%i_m f S \vith t_hetl;e area Of cont
P — 1T ac
ACE FOR ROUGH WORK e L of i o
P ORK
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(25)
133 o AR F F H - _
94. < 3 A £ fafa 2 - fafual wam 8 ==ifs | 94. Reproduction in Hydra 18 similar to yeast as
gl Afir ‘ they both reproduce :
L;: FrgueA (A) sexually
( “
™) by binary fission
o T S
{D‘l a1 e (C) by budding
{
(D) by external fertilisation
e Frier Frefefia o @ feem &
o Nz ad R & 2 95. External fertilisation occurs in
A) . (B) vt
(%) Sl (D) wmmes (afsard) ) Frog (B) Sparrow
' | (C) Cat (D) Crocodile
96. ﬁ-:::]fﬂ'ﬁﬂﬁ o 8 31 f=h =afs 7 s
fyatad F 9T A H IAEA HAT 2 5 96. Which one of ‘he following produces 2
(A) NERR 7ty " hormone which controls sugar in a person ?
(B) A bl\!\drunal gla?d
(C) 41 IR (B) “Pancreas
(D) T3S 1D (C) Pituitary gland
(D) Thyroid gland
97. Wlﬂﬁ‘lmmﬁmmﬁaﬁawﬁm
G S| 11 4 few Mo IAE i 3 £ifau - 97. Match the organs of human female
ST - reproductive system given 1n Column 1 with
” i Column 11 giving the functions they perform :
(i) USSR (a) 91 <A1 fa=ma gral Column I Column I1
2 (i) Ovaries (a) Development of the
o RS g baby takes place
iy daifgad afasr (b)Y @I IHE o
) = (n) Fallopan (b) Production of female
(i) TS | (o) famfaa 37 O~ tubes gamete
(fema) & e {ii't]/ Uterys (¢) Mature eggis
released
(A) (D)), (ii)-(b), (iii)-(c) (A) {i‘i-}a}. (i1)-(b), (iii)-(c)
(B) (1)-(c), Gii)-(a),.(1i1)-(b) (B)  (i)-(e), (i1)-(a), (111)-(b)
(C) (i)-(a), (i1)-(c), (i11)-(b) (C)  (i)-(a), (Gi)-(c), (111)-(b)
(D) (1)-(b), (ii)-(0), (ii1)-(a) 7 (1)-(b), (ii)-(0), (ii1)-(a)
OR ROUGH WORK

#H_

ﬁaami‘!mfmm}smcu



(i)-(c), (1i)-(d), (iii)-(a), (iv)-(b)
(i)-(d), (i1)-(c), (iii)-(a), (iv)<(b)
(i)-(c), (iD)(d), (iii)-(b), (iv)-(a)

L4 1S a fuel wlt}

5,8 followin

ot t
( 26 ) e one ﬂmﬂﬂg-—t 3
which - FiC valy
ara 98. * at cﬂlﬂﬂ (B} CNG
:fﬁﬂﬂ high€
@ §ad ol ‘/ PEtrﬂI (D) Wood
”24 - ¥ ﬂ? ﬁ m'ﬂ DiEEel
° prefero” PR (€ o
e .2 W 27? (B) i i of defgrestatmn 1S .
a@9 se
(A) g (D) g9. The cor . the rainfall and fertility o,
© (A) increast :
FroTT™ 2 soil
99. W; a £ Fa@ 7 gfé 2 _rease in the ground water levels
(A) :a—gﬁtﬁqu ) X zat ﬁi )e/increaﬁ of carbon dioxide levels in i,
(B) w1 31334'"""‘”5 sphere
q atmosp
(C) q@alﬂ - = (D) decrease of pollution levels iy G
ﬁ m % atmgsphﬂre
D) TTTE iy i 114
Iﬁa@%ﬂﬂiﬁfa‘ Y :ﬂ%»‘ :{Q’iﬁ"ﬁ 100. Column | has some of the constituems:
). ﬁa;ii g1 fag TQ g | Petroleum and Column II has thej Use
3 gd e FIC - Correctly match the constituents with
g 1 ) il ro7 aTEd] @ uses :
a |
(i) Wlﬁ'ﬂ Fyd Column 1 Column ]]
(b) EE Eﬂé (31? (1) Paraffin w (a) Fuel for hes:
ii) @ﬁ:’ EFE'ﬁﬁT[) a,-'fa‘q motor vehicles ,
CRIPED (ii) Bitumen (b) Solvent for
‘ dry-cleaning
o e (c) 9= (iii) Diesel () Paints
d) JEd (iv) Petrol (d) Vaseline
) dgid h -
o ()-(d), (iD)-(c), (iii)-(b), (iv)«a) (A)  (1)-(d), (i1)-(c), (i1)-(b), (iv)-(a)

(B (1)-(c), (11)-(d), (111)-(a), (1v)-(b)
C()-(d), ()-(0), Gii)-(a), (iv)-(b)

(1)-(c), (i1)-(d), (ii1)-(b), (1v)-(a)

_——-—-"

(D)
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76
77
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30
81

82
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85

86
87
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90
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NA

92
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94
95

296
97
o8

99
100

QN

51

o2
53
54
29
56
o7
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29
60
61

62
63

64
65

66
67
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70
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75
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a7

48
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